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INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within |0 minutes of the issue of the Question Booklet, check the Question Booklet 1o ensure that it
contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately 10 obtzin a
fresh Question Bocoklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
withour its envelope.

3. Aseparate Answer Sheet is given. 1t should not be folded or mutilnoted. A second Answer Sheet
shatl not be provided. Only the Answer Sheer will be evaluated,

. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided above.

4

S. On the front poge of the Answer Sheet, write by pen your Roll Number in the space pravided at
the top and by darkening the circles o the bottom. Also, wherever applicable, write the Question
Bookiet Number and the Set Number in appropriate places.

6. No averwriting is allowed in the entries of Rolf No., Question Boeklet no. and Set no. {if any)
on OMR shee! and Roll No. and OMR sheet no. on the Queston Bookiet.

7. Any change in the aforesaid entries is 10 be verified by the invigilator, otherwise it will be tuken
as unfairmeans.

8. Each question in this Booklet is foliowed by four alternative answers, For eack question, you
are to record the correct option on the Answer Sheet by darkening the appropriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the
first page of the Answer Sheel.

9. For each question, darken only one circle on the Answer Sheet. 1T you darken more than one circle
or darken a circle partiatly, the answer will be treated as incorrect.

10. Nosc that the answer once filled in ink cannot be changed. If you do not wish fo atiempt a
guestion. leave all the circles in the corresponding row blank fsuch question witl be awarded

zero marks). | '
11. For rough work, use the inner back page of the title cover and the blank page at the and of 1his
Booklet.
12. Deposit only OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. If s candidate attempts to use any form of unfair means, he/she shall be liable 1o such punishiment as
the University may determine and impose on him/her.
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14U /93/4{i)
No. of Questions : 100
wEl # WEm ¢ 100

b
Time : 25 Hours Full Marks : 300

1
w25 o2 qoIfEF : 300

Note : (1) This question booklet contains 100 (huadred) questions in all
{30 in Section - A and 70 in Section - B). Attempt as many
guestions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.
g9 geA-gfasr & g 100 (@) 9997 (@8- a1 & 30 7
aox-§ ¥ 70 ) oRt@mfas gt A aq W & 9T &
ko " 3 (fF) oint =1 2 I vem ouv @ AT o
S7F FICT AT/ TOF AIANRT 997 F A0FH LT G0

(2) If more than one alternative answers seem tn be approximate (o

the correct answer, choose the closest one.

gfe apitE IFfeas AT T8 IO 3 e wlia &, @ Faean
gl a7

3 P.T.O.
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01l.

02.

Section-A
EHUES-I7

Indian education put emphasis upon :
(1} The tradition of indian society

(2) To give Honour 1o elders & teachers
(3) Cultivation of values

(4) Ail of the ahove

AT 3y " a6 &

(1) 9T T B q0ga g2
(2] IR OF T P FE 9T
(3) wEE @i & gads gy
4) IT9T G qT

"Every school subject has a disciplinary value," it means, that !
(1) It brings discipline among students

(2) It teaches certain habits and o ;
qualmcs to train ‘
students the minds of

{3} Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of teaching

(1) I® Bl & orangs Qe 2

(2) %Eﬁ%mﬁ@wﬂqéyﬁ%mm%
(3) Hﬁmﬁwaﬁmﬁaﬁiﬁﬁ%maﬂma

{4) sﬁaﬁaﬁﬁaﬁf@mﬁrﬁaﬁmwaﬁ%

4
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03. A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
(2) Create happiness in the classreom
(3) Achieve curriculum goals

(4) Assign home work and classroom work

o oTTe® A T A oy & TE & S g B WA &= A
aifed it g8 I gEad HI & ¢

(1) IfrvES B TR & A
(2) Fem ¥ TR FG= &L H
(3) urEamH B g A o A
(4) JeHE U T Sar HT 7

04. For becoming a good teacher, the most important quality of a person
is :
(1) Genuine interest in teaching
{2) Knowledge of his subject
(3) Ability to control students
{4) Ability of good expression

oF ST STAIGH TN » R, oF R A aed eyt drae
B

(1) fwerr & S s @

2} Foa @ owE @

(3) ot @ Peta @ ® dee f

(@) oredh sfvfe & draa &

5 P.T.O.
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05. If[ will become a teacher my most preferred activity will be to
(1) Give important questions to students before exarnination
(2) Dictate notes in the class
(3) Clear their difficulties regarding subject-matter

(4} Make student disciplined

A K o FAH a9 WS O AT 98 95 e S
(1) TR | 9eq 8 # yeEgel gy 9o 3

(2) T F g 2=

(3) ﬁﬂﬂﬂﬁﬁﬂ‘ﬁﬁuﬁaﬁﬂﬁiﬁﬁﬂﬁaﬁﬂ%gm

(4) BT H IR AT

06. If a student gives wrong answer to your question you will .
(1) Scold him for not having learnt his lesson properly
(2} Explain why his answer is wrong
(3] Ilgnore the wrong answer

(4) Ask another student to answer and ignore him

uﬁmmm%mmrwaw%m%aﬂm
{1) ﬁmmﬁm%qqﬁ%mmﬁ
(2) 7& W HT & Iuw IO w9t e B
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07. You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1} You will permit him to ask unrelated question
(2) You will not permit him for this
(3) You will consider him as undisciplined and punish him

(4) You will answer the question after the class

AT FT & TF 915 97 @ ¥ N7 oF o9 ure § ordafuT uwA
HET 2| AT =T FHAT ?

(1) o9 I8 =T a9 gev ;N sy B

(2) o9 W e OvF g % orefy T 3]
(3) M9 IV gEHt orgART T N

(4) ST FHEAGOT FHH IAX A

08. What type of teacher would you like to be ?
{1) A teacher who teaches the whole cutrriculum
{2) A teacher who helps his students in learning
(3) Teacher who is a friend, philosopher and guide of his students
(4} A teacher who maintains good discipline.

Y fFd 9hIX &1 STEAIH &1 ARy ?

(1) H=es o & QR urgasss & gern 3

(2) eIEH N AERY A SEl A GBIAr HIET
(3) oTeEgE S BEl W A, it ok mem ¥
(4) STEUE S HEBT ATITEA A ¥

7 P.1.0.
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w-

10.

11,

At authoritanan level teaching is :
(1) Teacher centered (2) Child- centered

(3) Headmaster centered (4)
Frige ® @ R

(1) HeA9H Hiad dar & (2)
(3] AEFRATIS @fEd AT ¥ (4)

Experience based

S @fma aar 2
Vg il B

In order to modify the undesirable behaviour of a student the most

eflective method is :

(1) To find out the reasons for the undesirable behaviour and pro-

vide remedies
{2} To brning it to the notice of parents
(3] To punish the student
(4] To ignore it

Secretly is 10 openly as silently is to ;
{1) scarcely {2)
{31 noisily

impolitely
(4) quietly

AR A glom 3 R & 3 Pregar

(1) &9 & R B (2) vy & R 2
(3) &= B R R (4 o9 F By &
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13, Which number would replace question mark in the series
7,12, 19, ? 39

U§arEe B N 9T 3 qaE]

(1) 29 (2) 28 (3) 26 (4) 24
13. Mind : Body ::

(1) Water : Air (2) CPU : Hard Digk

(3) Ship: Oil (4) Software : Computer

9 @ 9T

(1) @t : & (2) 99y : sEfsw

(3) & : a9 (4) HIFRAGY : TP
14. Life is related to Death in the same way as Hope is rclated to :

(1) Sad (2) Despair

(3) Pain 4 Cry

He w1 Fra geg A R St W omem wafte 2

() 39 | (2) Faer |

@3 =9 4) T &
16. FAG, GAF, HAIL, IAH, __

{I)] JAK {(2) HAL

(3) HAK (4) JAl

TF T SN, ST T O, O9 T IN1E, E T O, ....... S

(1] Fq&® ¥ I B |

(3 TR (4) 1 q o
16. Which word does NOT belong with the others ?

(1) puitar (2} flute

(3) violin (4} sitar

9 'oT-O»
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ﬁqﬂﬁaﬁﬁmﬁﬁwﬁawﬂ%?

(1) Frerx (2) argh
(3) arfem 4) R

17. Which word does NOT belong with the others 2
(1) ]EOp-ﬂ.l’d (2) Jaguar
(3) elephant (4} lion
ﬁwﬂﬁ#ﬁmmmﬁﬁwﬁuﬁaﬂ%?
(1) =m (2) Hgam
(3) wredt 4) N

18, Child: Family :;
(1) Flower : Bunch {(2) Bird : Set
(3) Calf; Herd (4) Deer: Gang
= QR |
(1) ST : 7wy (2} Fof¥ar : ggs
(3) =B9T : Yoz (4) =g : ¥

19, i
9. IfSis the brother of N, the sister of N is M, the brother of P is J
the daughter of S is P then who is the uncle of J 2 e

(1 J 2) 8 (3] N 4) M

AE d F @7 aE B, oy
vdeinduly.. aﬁq;?an%,qmwﬁw%awaiﬁgsﬂ

(1) @ 2) § |
) 3) = (4) n

10
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20.

21.

3,10, 101, ?
(1} 100101 (2) 10201 (3) 10202

The full formof NTS E is :

(1) National Technician Search Education
(2) National Teacher Search Examination
(3) Naticnal Talent Search Examination

(4) National Talent Selection Examination

G e ] O A

(1) o= LaiidEsT ad oo
(2) AT AT g gt
(3) AYRA T T AN
(4) AW = | seentRTE

EDUSAT satellite was launched on

146} 638 441

(4)

11012

{1) 20" September, 2003 (2} 20* September, 2004
{3) 20" September, 2005 (4} 20™ September, 2006

fq‘éigmt{@tasram:

(1) 20 R, 2003 1 fFar @ @
(2) 20 TR, 2004 B B oW
(3] 20 Rywar, 2005 B far @ ar
(4) 20 faa=aR, 2006 B BT W@ o

11

9.1.0,
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23,

24,

45,

NIOS is known as :

(1) Naticnal Institute of Open Schooling

(2) National Institute of QOpen School

(3) National Institute of Overseas Schooling

(4) National Institute of Open Scholars

o g 3 TH ST oy @
(1) A I2TGE ot Sids wgfern
(2) A FEIIGE A% MY el

(3) A FTRGT A Ao TpRiT
(4) A FERGE e A BT

NEUPA was cstablished in ;

{1) 1976 (2) 1986 (3) 1996 (4) 2006
Y@ & WO g B o

(1) 1976 H (2) 1986H (3) 1996 H (4) 2006 #
Who is the present director of NCERT ?

(1) Prof. J.S. Rajput

(2] Prof. Parvin Kiran Sinclair

(3] Prof. A, K. Sharma

(4] Prof. Krishna Kumar

A d e R EaH. P PRy AT T 7

(1} @. H.TH. oy (2) @. 94 fa= o=y
(3) W. Q. &. =f (4) . FoOT FER

12
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a6. The theme of the 11™ global monitoring report 2013-14 of UNESCO
was |

(1) Teaching and Learning : Ac;hicving quality for all
(2} World Peace : Education and value
{3) Environmental Pollution

(4} Women Empowerment and Education

@wﬁaﬁm@wﬁfﬁfﬁwﬁﬁézma-maﬂﬁﬁwm
(1) T avs @ffi - o g B sifer

(2) @~ diF : Ren oiv A

(3) FTARRA=S dieger=

(4 T FEAH= 0T g

27. Who wrote the famous book - 'We the people' ?

(1} T.N.Kaul (2) J.R.D. Tata

(3] Khushwant Singh {4) Nani Palkhivala
“d‘ratﬁga”ﬂmzﬁwmg{'gafsﬁmﬁﬁ‘-r@ﬁ ?

(1) dlo o T A 2) Jo IRo o =TT A
(3) gy fHe 3 (4) - Qa3

28. The Cabinet of which state in March 2012 decided to give a grant of

Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1} Uttar Pradesh ' : {2) West Bengal
(3} Andhra Pradesh (4) Delhi

13 P.T.O.
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8 ey & AfF aReg A At 2012 % 5w g gRem sEmelt
M 3% fae @& B $ Y 30,000 5T H oI =M HQ B
Pt o ?

(1) I HWQw (2) uf¥em ST
(3] HTg BN (4) et
29. National Institute of Mental Health and Neuro Sciences is situated at :
{1} Lucknow (2] Bhopal
(3] Bangalore (4) Delhi
AT REILGE ol How o0 T A igh T Reg §
(1) S&H | (2) o
(3) Fmae o (4) Rwh &

30. P.W.D. Act, 1995 is related to :
(1} People’s works department
[2) People’s welfare department
(3) People with Disabilitics
(4) People with disease
Jflo s=g0 Ho wFe, 1995 @ Ty & -
(1) 9igew == faurda—= &
(2) digeE ATHAT RudA= §
(3) digw fag feaofygd @
(4) dige Rz BBdig |

14
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Section - B
qUs-§

31. Alight rope fixed at one end to a wooden clamp on the ground passes
over a tree branch and hangs on the other side. It makes an angle of
30 wﬁﬂ't the ground. A man weighing 60kg wants to climb up the
hanging rope. The wooden clamp can come out of the ground if upward
force greater then 360 N is applied te it. Find the maximum
acceleration in the upward direction with which the man can climb
safely. Neglect friction at tree branch and take g = 10m. /sec?.

(1) 4m./sec’. (2} 2m./sec’. (3) 1m./sec (4) 3m,/sec?.

U D T B T BT onfi 97 1R uw dedt B o Q) Far 2
@ngﬂﬁﬁm%aﬁmﬁﬁﬁmqwﬁaﬂrm@ ¥ aw
Sofie | 30° @ o7 /oI B u Frasm a9 60 oo B,
3G ATHN T & WER ug-l =ed 3| Tl & 52 ) o=
q 3@ D 360%2?%%6‘#@3%%@%%3@
A &t & dig guor 3 e F FA Ry F I=g9m7 TIOT F =

W H, Fed T8 ot SaT Yt Ram F g @ wear B
(g = 10m./sec?)

(1) 4m./sec®. (2) 2m./sec®. (3} 1m./sec?. (4) 3m./sec?.

32. A cylinder is released from rest from the top of an inclined plane with
angle of inclination ¢ and length L Of the cylinders rolls without
slipping what will be its speed when it reaches the bottom 7

O A9 RIrEReT # oF wNae oIt 3 Soaas favg @ BT o1
g, OO o A arard | OF g (F) g B, A0 B awad o
R o fraer geord ge e w1 9T e & w\a A &) o

g |
(1) J%g?sin& (2) 1Eglsinﬂ (3) ,Eg[sine (4) Jigieing

15 P.T.O.
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33. Two satellites 3, and S, revolve round a planet in coplaner circular
orbits in the same sense. Their periods of revolution are 1 hr. and 8
br. respectively. It the radius of the orbit of S, is 10° km. then find
the speed of S, relative to S, when S, is closet ta 8.

(1) = x 10" km./h. (2) 2% x 10" km./h.
(3) 3n x 10* km./h. (4) 4nx 10* km./h.

3 IIHE S, 79 S,UTF TG & Il T GHRE Mol wenalt ¥ wa=
BT H qH W@ €, T St H HEM: OF 9Uey U 8 qver €
af% SwrE S, @ Har B o 10°km B, & IumE @ 3 5B W
frfee, o S8 ® 99 H09 A

(1) = x 10* km./h. (2) 2= x 10" km./h.

(3) 3n = 10* km./h. 4) 4xx 10* km./b.

34. The length of a metal wire is ! when the tension in it is T, and [,
when the tension is T,. The natural length of the wire is :

TF U B AR i T | R, TN §H W oA T2, oft e o,
g, I TE T, B, A @ rpfoes orard ¥ -

I +! !T, -1,T LT, +{.T
1 | b a2 201 1 t2 17
(1) 7 (2) {1, (3) T (4) __1-1 +T,

35. Bernaulli's theorem is based on the principle of conservation of :

(1} momentum (2) mass
(3] energy (4] angular momentum
TR 999 e derv @ faera ot e B
(1} = (2) Z=TmT
(3) Folt (4) =mofig g3y
16
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36. Whenadropofoiliss
pread on th rf: S :
colours in daylight because of - € suriace of water, it displays beautiful

(1) ﬂ_ispersfon of light (2) refraction of light
(3) diffraction of light (4} interference of light

w%aﬁw%ﬁﬂuﬁﬂmw%m%m}mﬁq%
TR ¥ AT Gt # yavt wen By gwer e @
(1) WehreT &7 Uehpls (2) YIT W gty
(3) "I T fdrgoy (4) UHE W Wy

37. The system can be taken from the initial state P .V, to the final state
P,, V, by two different methods. If AQand AW represent the heat

given to the system and work done by the system respecti
; tive
which of the following must be the same in b}q;th the mpeihodsb; then

%Mﬁ{ﬁmmavﬁaﬁqmﬁﬂmﬂ
F&ﬁwaﬂﬁ%mw%ltﬁaqmgwwmmiﬁrﬁ
nﬁmahnﬁﬁm%ﬁmﬁ?qwm#mﬁhmﬂ%ﬁh
fFrafifea & @ f-ar o & Sraeaslt 3 Rig @ @ ?

(1] AQ 2} aw B) aQ+aw 1) AQ-AW
38, A liquid cools from 70°C to 60°C in S minutes. Calculate the time

taken by the liquid to cool from 60°C to 50°C if the temperature of
surrounding is constant at 30°C.

(1) 7 min. (2} 9 min. (3) 6 min. (4) 8 min.

Uﬂimmaﬁm“cﬁeo“cmamsﬁﬂaﬁmmm
%,Gﬁtmwmmso‘cﬁsﬁcﬁwﬁmﬂﬁmlﬁ

TRFRE # aed asw 30°C B
(1) 7PF=e 2) 9PfFe (3) ofYse 4) sfm=

17 rT.0.
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39. A heat engine operates between cold reservoir at room temperature
27°C and a hot reservoir at temperature T, [t takes 300J of heat from
the hot reservoir and delivers 180J of heat to the cold reservoir in a
cycle. What could be the minimum temperature of the hot reservoir ?

TH N T 98 Ted (BB M 27°C ) @ i e (Fes T)
% dra Frasiler 8 1 7€ $99 o3 99T 7 i senv @ 3000 9 A
A 180J A A9 IS FE A 9= FA B W orenera @
AT AeEA o 81w 2 7

(1] 400K (2) S00°K {3) 600°K (4) 550°K

40. A resistance of 190} and an inductance of 100m.H. are connected in

series with an AC source V = 100 Sin(1001). The phase difference
between the current in the circuit and applied potential will be ;

Q% ToHl @IT V=100 Sin(100t)  TF jon &1 90T 5 100m.H
T TF S ANHA 7 JT g 2, IRaw § 4Ry o s v
% g | FHT A TVE Ff

to | A

(1) = 2) 3 3 4 5

41. The impurity atoms with which pure silicon should be doped to make
p-type semicanductor is ?

{1) Arsenic {2) Boron
(3) Phosphorous (4) Sodium

38 TR B A gAY R g Rl Y p-type orsfame s
P fore Framar sy =feg 7

1) oD 2) s
(3) BfERRY (4) wfEgy

18
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The electric potential at the center of a cube of sides of length a with
charges q placed at each corner is :

q 4q 8q
(I Zero ) fBre, a B frea W fBrea

T S 9 w3 IR a g, @ Pras o B «w
q TS W@ FAT | IuD = W fageha R @

2q < 4q 8q
(1} I 2} fre, a B fpea ¥ fre,a

Kirchchaff's law of junctions for the distribution of current in any
electrical circuit is based on the principle of :

(1) Conscrvation of charge (2) Conservation of energy

(3) Conservation of momentum (4) Conservation of mass

fret fagrer oftaw & awr faaeer 3 Feells @& st & Fram Fre=t
# & frg el a1 omufa 2 -

(1) ST HIOT (2) AT G
(3) TIT I (4) ZHHN @I

44, The break down voltage for a Zener diode is 20 volt. The break down is :

(1) due to high electric field in the depletion region
(2) due to high velocity of minority carriers in the depletion region

(3) due to tunnelling of majority carriers through the depletion
region.

(4) due to collision of minority carriers with the majority carriers in
the depletion region.

19 P.T.0.
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TH AT SRS I STl (Srheran) st 20V ¥ | SrgRwrer

B T I 2

(1} avm &8s 7 o= faga &=

(2) ST A F I AR B I=A AN

3) FEMT AT & I=q WAH B TR0

(9) HEHE B F I=9 AR OF o9 A 9t T

43. For a transistor the common base current gain is 0,99 and the reverse
saturation cutrent Ico is 2puA. If this transistor is used in common

emitter configuration with base current I, = 204 A then the coliector
current I will be :

e FifmeT & R Rreen owafre smae amr o 0.99 2 &

IS a1 leo 2pA B ) AR 39 iPTET A awalrs acael
gqﬁm,mawmlﬁzom%ﬁamﬁmﬁm
9e, 9 WIAeH 9 [ entt

(1} 1.98 mA {(2) 2.0mA (3) 2.18mA (4) 2.08mA

46. The relractive index of a nonmagnetic dielectric material with dielectric
conslant er is given by :

Uh LD SRAfEY wat Rrewr sEdfes Radie” o 2

TEH AT AT
!
DN L @ (&

47.) If the light is incident on the plane surface of a material whose

:‘ﬁgr?tftive index is | at an angle of incidence @ such that tang = p

(1Y the reflected light is completely polarized
(2) the refracted light is completely polarized
(3) both the reflected and refracted light is completely polarized

(4) the refracted light is completel oy ;
is partially polarized pictely polarized but the reflected light

20
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uﬁ%mﬂﬁﬁwﬁwﬁwﬂ%mwwmﬁﬂ?ﬁﬁ,
ﬁwwu%,ﬁtmwmgmm%ﬁsmgsp
oy

(1) rEida fRor &1 qft @@ ydiee B
(2) sMaffa BT &1 7@ ave gdiga B
@) Sl od wEfda @ & qf ave gdeg 7

(4) gaEfda o =1 gh at® giiga 2, Tefs oratfa feor
SIh B9 /A gdipa 21 :

The Maxwell's equation Vx £ = —% represents :
(1) Amperc's law (2) Faraday's law
(3) Biat Savard law (4) Gauss's law

(1) ofR ffgm (2) ®u2 * FEw
(3) FEe @\ & FrEm (4} “q =1 Faw
For a Vander Waal's gas the Jaule Thomson coefficient is given by :

“IreT A T B RIT S 9RTER T6e" ST ®

1{2b I 2
(1 “=;(ﬁ‘“) 2 “=;["‘%]
1 2b 1 (2a
(3) ¥ -g[“‘ ﬁ) (4) * -;[Ef* J
21 P.T.O.
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S0. A thin less of focal length 12 cm. is iunmersed in water (p =1 33)
What is its new focal length for the objects immersed in water ?

U O A T Brew g 12 @0 2, IR ah | Far st
%:%ﬁm%%q@wawgmé,mﬁfjgﬂaﬁ:

(U & 4 =1.33)
{1) 18 cm. (2) 24 cm, (3) 6cm. (4] 3cm.

Two linearly polarized light waves with their planes of polarization at
right angles to each other give rise to ;

(1) circular polarization (2) eliptical polarization

(3Y" linear polarization {(4) no polarization
g.i@ﬁmﬂﬁﬂ?ﬁ%,ﬁlﬂ%giﬁqﬁﬁ%iﬂiﬂﬁ’ﬂﬂﬁ%,aﬂ
(1) M gepor (2) dgha gher

(3) I gfaor (4) W gFHTor TH

52. A star emitting light of wavelenght 5896A° is moving towards earth
with a speed of 3600 km. per scc. If the speed of light is 3x10° m /

sec. then the apparent wavelength to an observer on earth well be
about :

T T Bed Fee i e 9 dor Suf 5896A° B, geft
T 3600km. /sec.t AT & a7 & ¥ A TR B T 3210 q
ét,aa%aﬁgﬁiaaw%,m%tﬁmg{mﬁam‘: |
(1) 5825 A° (2) 5967 A° (3) 5871 A° (4) 5921 A°

22
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63.

54.

56.

$§7.

14U/93/4(4)

If the separation between the two slits is d and the width of each slits
be a then what requirement must be met for the central maximum of
the envelope of the double slit fraunhofor diffracation pattern to contain
exactly eleven fringes :

gft QY Ree (an Bess) @ 99 B T dud 9 qw Rae A 9=
a 8 d S99 & DT I=ATH A fioie BETEMR RYgT 9= &
ZARE Tp=oAs Y H2 FIA &Y EANTH a1t 8

d_13 d_n d_15
a

m 2=5 @ ;73 @ 5 (4)

e o
| O

For Compton scattering at 90° the effective sluft in wavelength is :

909X Frued fReeie 8 adn @ A guEl ®EEE S =i
(1} 0.242 A° (2) 2.42 A
(3] 0.0242 A° (4) 0.00242 A°

Which of the following hydrocarbons has the shortest ¢-c¢ bond length ?

frst eEiEEe # RpEel ¢-c TY T8 GFY HH B & 7
(1) CH,=CH, (2) CH, CH,

(3) HC=CH (4) @

How many isomers are possible for hexane ?

2999 3 o g9 ¥vHa 8 ?
{1) 4 (2) S 3) 6 4) 7

Diethyl ether on heating with excess concentrated HI gives :
(1) Methyl iodide (2) Iso propyl iodide
(3) Ethyle iodide (4) n-propyl iodide

23 P.T.0.
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S TURN YT AR BIEES AAISEs & sifesar @ SuRefy §
TRY F 9 7 ar 2

(1) Praza aEEgs (2) F ANEA SIS
(3) ZUIST STASKT 4) TA-NYEW AHEEE

5B. Acetic anhydride is obtained by the reaction of :
(1) Acetic acid with sodium
[2) Acetic acid with diethy} ether

(3) Acetic acid with water

(4) Acetic acid with P.0,

qﬁrﬁ%%&mm@m%ﬁm%ﬁlﬂﬁ:
(1) ofiRRE s @ Giftaw }

(2) wiEs o/ B 31T sumwduT

(3) W™ orr @ ol |

(4) qﬁlﬁzﬁmwmﬁmmmqa

59. Which of the following compounds will give a positive test with Fehling's

solution ?

(1} Formaldehyde (2) Acetone

(3) Ethylacetate (4) Acetic acid
ﬁwﬁﬁﬁﬁ#%ﬁhﬁw%mmqﬁmh?
(1) ®dimss (2) w@Em |
(3] uitmTHRe (4) ufafes ufys

24
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60. Vinegar is a :

514

(1] 75% solution of acetic acid in water
(2) 50% solution of acetic acid in water

(3 25% solution of acetic acid in water
(4} 40% solution of formic acid in water

Ry BT 2

{1) 75% of&ifes Ui &1 I | Ol
(2) 50% Cfafes afgs o o ¥ 9w
3) 25% WaRRs s &1 o1 F 9w
4) 40% wIiE e & 59 § 9O

All nucleophiles are :

(1) Arrhenius Acid (2] Lewss acid

(3) Bransted base (4) Lewis base

T e 8 8

(1) omifefwa ord (2) TFq e

(3) ®WiLs AR (4) TIH WX

The particie size of colloids ranges in between :

(1} 1=10nm. (2) 1-30mp,

(3) 10- 100 pum. (4) 1-50 pm.
FITES TN B B Py & dg S B

() 1-1099 Hlo (2) 1-50 o A
(3} 1-100%5ZH Ho (4) 1-50W=EH Mo

The unit of surface tension of a liquid is :

frl g9 & g aea &t g@g Fes Al
(1) Kg m's? (2) Nm? (3} Kg m?s! {4) Nm??

25 Pr.T.O.
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64. The intensive property is

T W@ 97 R
(1} AU (2) AH (3) AG 4 C
P
au
65. For a real gas, [?ﬁ) 15
(1} Zero {2) Negative (3) Positive (4} Infinity

Rt et g @ R, (;‘—”v-JaaT%:
(1} s (2) oS (3) TS (4) AT

66. The efficiency of a heat engine operating between 400K and 300K is:

gvfhms‘waﬁ?twwqﬁsoox%aﬁaﬁﬂﬁa%,GHﬁm

(1) 1.0 (2) 0.75 (3) 0.50 4) 0.25

67. A system absorbs 100 KJ
' * heat and performs 50
surroundings. The increase in the internal energy nlt:ull'{l‘:"heW :;":l;g itsh'e

68. Isotonic solutions have :

r{ ;} the same freezing point (2) the same boiling point
) the same surface tension (4) the same osmotie pressure

TR o & gy 2
(1) p & fEwig (2) O & FoerEy
(3} T & g5 Ferg 4) & & qumrer ag

26
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69. The massless particles are ;

(1} e-rays (2) PB-rays (3) r-rays (4) protons
gamE Wad o 3-fpsy 4
(1) a- 2) p-FFTr (3) v-RRRoT (4) W=

70, TN.T.isa:

(1} Medicine (2) Vitamin (3) Disease {4) Explosive

dlouAcdlo B T ¢
(1) & 2) FeEf= (3 $md (4] Repes

71. The normality of a solution of sulphuric acid is ol

0 Its malarity will
be :

mmm%m@m%%ammm
2
M

M M M
(1) < @ 3 3) 1 4 =

73. Which one of the following will lower the activation energy for a
reaction ?

(I) Addition of a catalyst
(2) Increase in the concentration of reactants
(3) Increase in the temperature of the reaction

(4) There is no way to lower the activation energy

27 P.T.0.
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Frst & Fred s Bl ol )t wediaor st &9 &y 2
1) R Goa B s |/

(2) P sRel & 9o qg2l Q

(3} PR w1 aEE ST |/

(4) @I HAt B Wt ae § =9 98 & g @

73. If the specific conductance and conductance of a solution are same,
the cell constant is equal to :

7% Rl s 3 e aasw oF
oy Baginaly: | 0F HhE % & 2 &) aw

(1) 0 2) 0.5 (3) 1.0 (4) 10.0

74. Which metal is used as a coating on steel to prevent corrosion ?

TR X 59 a1y @ A9 FRA ¥ I HeRw @ w9 @ R
(1} Na (2) Ca (3} Cu (4) 2Zn

@ The first use of quantum theory to explain the structure of atorn was

made by .

(1) Reisenberg (QY/ Bohr

(3) Planck (4) Einstein

TR T H GREA0] =T @ arar & T

T R H oar e T s e

(1) BRE=T=rt () v (3) wWi® (4) IMFET
76. Which of the following halides is most acidic 2

Fr=1 3ensst & o wed ot archg 2 ?
(1} PCl, (2) sbel, (3) Bicl, (4) ccl

28
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71,

78.

80.

14U/93/4{1)

SLV-3 uses propellants :

(1) Selid (2) Liquid
(3) Solid-liquid (4) Biliquid
T oW -3 # o Qe gEnT o 2

(1) 3 (2) o

{3) Jg-a@ 4} =EfarEs

Ify = 2x° - 9x" + 12x + 23, the values of x for which :—i =0 are:

Hﬁ‘y-2x3—9xi+12x+25,x%ﬂﬁﬁﬁ[%m %-Ut :

(1) 1,2 {2y 3,4 (3) %,B (4) 5,6
Iimi !
. The value of H%MF)? is :
;& 1
]ﬂgm & AT B
m 3 @ 3 @ 7 @ 3
X + sinx
Ime dX is equal to :
I"Hi"xdx 8.
] +¢osx TR ‘
(1) xsin% (2) xcns; (3) xm% (4] xtanx
29 P.T.O.
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81.

82,

83.

84.

Iim—lngx i
w0 cot ¢ 15 €qual to:
. log x
1 .
e, 1 AT et B
| I
(1) O 2) 1 S s By

The asymptotic, parallel to the axis of x, of the curve
Y+ xzy+2xy2-y+ 1 =0is:

GH Y+ Xy +2xy -y + 1= 0F) %o B T et 2

(1) 3-0 @) x =y (3) y=0 (4) y=2x

The angle of intersection of the curves y=4-xand y= X" is :

ﬁﬂﬁy=4-x=xﬁﬁ'}r=f% C T | faﬁ 9T H ORWoT &

= 4\"'-2- -t
o ) n ) o wll) ]

7

The envelope of the family of lines ¥ =m'x -4“-1—2 ig :
m

(1) circle {(2) ellipse

(3) parabola (4) hyperbola

: 1

Tanaif y=mx+—5 F FA w i B

(1) ga (2} = T

(3) =T (4) ARy Ty

30
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85. Two bodies of masses m and 4m are moving with equal kinetic cnergy.

86.

87.

The ratio of their linear momenta is :

m AT 4m 7N P A Aog |E@ T 99t $ w9 T ¥ (g
Mz et & orua -

(1} 1:4 2) 4:1 3) 1:2 4) 2:3

A man walks at a speed of 6km./hr. for 1km. and 8km./hr. for the
next lkm. His average speed for the walk of 2km. is :

Tk AN 6 Reflo uftraeer &t o & 1 efle gwar ot orer
1 fFfto, 8 fpfe wftraver &t o & ToT 81 9} o 9= 2
frodlo ae v qT ¥ ;

4

(1) ?lkmi{hr, (2) -57£km.jhr*
(3) %km./hr. (4) 4—?5-1311-1”“‘-
The value of ! Jxer dx 5.
Tﬂe"! d Hr A= T :

2R
(1) % {2) E (3) % (4) 2«

31 P-T.O.
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88. The equation [*

(1)
(2)
(3)

(4)

89.

(1)

1 x x?
x2 1 x{=
x x° 1

x:

Dhas:?

only two distinct roots
two pairs of equal rea! root$
one pair of equal real rnotai

i

~1| 8 -9

32

three pairs of equal real roc:pts

| 3)

LS I R

| Las

| b ~)

(4)

™
I

Wb o
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20, The eigen values of matrix : are :

M oW N

:M—H

e |2 m o g

() L,1,5 (2) 1,3,5
(3) 2,3,5 4) 1,3,7

91. The order of {-i) of the multiplicative group {1, -1, i, -1} is :
ToTH 8 {1, -1,i, -§ & (<) FT1 o 2 -
(1) 1 2) 2 3 3 4) 4

92, I{G is a cyclic group of order 30, the total number of subgroups is :

ﬂﬁeaﬁﬁsomaﬂﬂw%ﬁwzﬁr@ﬁw%:
(1} S 2) 6 3 8 {4} 9

93. !1' G is a cyclic group of order 13 then the number of generators of G
is :

& G FfE 13 H AT WY @ @ G D AT F dew B o
1 1 2) 3 (3) 12 (4) 16

94. If H and K are subgroups whose orders are relative prime, then
O{HNK) is :

af H 9T K avage & Prah FiRkdl anw & & & o(H k)
F
(1) 0 2) 1 (3) OfH) 4) K

3 3 P&TQOQ
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95. A square matrix A is nnn-singuiar if

TE @1 S A FeETiE ¥ Af

{1} A=xo0 (2) |Al=0 3) |Aj=0 (4) A*=0

96. The number of normals that ¢
ﬂﬁ be drawn through a giv *
central conicoid is : €%l & given point to a

ﬁﬁn&%ﬁrﬁﬁﬁqmweﬁ%@eﬂw#ﬂw%
(1) 4 2) 6 . (3) 8 4y 9

97. The equation of the sphere is :

M & gy 3 -
(1) 9[x2+y2+22)=5 2) x’+2}r7+33’=9
(3] 3x°+y'+2'=10 @) xy=5

98. v = x has

(1] One asymptote (2) two asympiotes

{3) three asymptotes (4} no asymptote

y =x ¥ &y - 1

(1} G FT-qeqsii @) R i

3) T srawR @) B s g

99. The radius of the circle ;
X+2y+2z= 15,xz+y:+zj-2y~é-4z= 11is;
IF x +2y +2z = 15, +y +2 Moy —az= 11 FPrear 2 .

) @ 5 (S N

34
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100.The direction cosines of the normal to the plane x + 2y + 2z - | = @
are:

mmzywzq-o%ma%}ﬁtgaﬁaﬁ%:

1
’3 (2)

Wt | A2
W | b

bl | —

1 3

(3)

N |
b |
o | -

1
2 (4)

35 2000
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(mmtmmqaiwmm-ﬂ*ﬂ#gufw
draw - st aeanyz 97 @ 8 frsl)

1 R e e & 1o fre & Iy @ 2 A e e A wit g v € ok o
m@ﬁ%:%ﬁﬂgﬁ@ﬁﬂﬂﬂmmm—m#iﬁw
LECLER IR icor T i 2 T

2. ;ﬂmﬁ:gaﬁﬁrmrﬁum-n#aﬁﬁmﬁ?@mmﬂﬁﬁﬁqﬁnmm

q & |
), amw-wmamalkmmatiman "aﬂwﬂﬁmwﬁmm-ﬂ#ﬂﬁwmf

MY ITT-9¥ &7 F qEOHT fhar &
4. HUT RIS T SH-TF F KA TR HR-TS W AT ¥ Fruifer s w fad)
S, -7 & 99W 9% 40 47 @ sy wywAie i vy ot frd mr A9 79 g w5
w;eiw-wmmm, -QfRIET &7 Wi AT Q2 T AT e WA
gt forelt :

6. ﬁanmnWmemmHﬁEM(ﬁWﬂ)m

Wﬂw Ao Qo 3T TF mﬂmﬁw}imdm
f |

y i ITYH wareat # sy st otz wg AEs g wefve g e sawr Fgew
QIGT ST WGT TW AR ﬁr =

8. WG ¥ i a7 & S Al Iw R vk ) e W & dafrom 2wt & iy
mm-wm?mﬁwfﬁr%mﬁﬁ&ﬁﬁdm-w%mwwﬁ#ﬁ
RAv & e dr @ mar v

9, mm%m%m%ﬁa@ﬁiqqaﬁwﬂ%ﬁmqﬁﬂwm
mm@ﬁﬁa@fqﬁmaﬁmmmm&w

10. m?#'ﬁrwmwra?maﬁamwzﬁrﬁmmhmmm:wmm
¥ 2w orEd @, A A ofew & a7 i o) gt o wm ol 3 2 vyt v
& R i 5

H. 7% e & A sw-gfim & TaTed oiw aiel 7S - qfRr & s 7w
F AT B

12. 09T & 3G 47 A qw T FT-47 T W 8 I A &)

13, T T BN R wew WM T & A ot @ orty A ey

14. TR F1d angedf gffen Tt & wEm
ety mm@m‘ﬁ“‘i“aﬂ W 8, A T frvafamrer g frffa
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